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T T F % BEEIE K 5 Z 158EAR | 15~645% | 6550 E
2 # 48,890 | 121,289 | 62,723 | 58,566 | 19,958 | 94,072 1,259
o 1 T H 775 1,711 981 796 266 1,399 112
¥ %= 2 T H 982 2,261 1,198 1,063 329 1,728 204
WK 3 T B 6317 1,631 857 174 204 1,180 247
WO 4 T H 796 1, 802 906 896 210 1, 345 247
W % 5 T H 798 1,521 802 719 165 1,165 191
5 KB 1T H 1, 251 2,468 1, 266 1,202 283 1,958 2217
x K 5 2 T H 1, 654 3,576 1, 903 1,673 488 2, 807 281
M R/ B 3 T H 780 1,796 944 852 287 1,347 162
% 1 T H 1,221 2,213 1,155 1,058 298 1,809 106
i % 2 T H 1,928 3, 989 2,069 1, 920 689 3,166 134
it % 38 T H 2, 060 4,009 2,133 1,876 598 3, 245 166
dt % 4 T H 1,080 2,428 1, 291 1,137 429 1,918 81
® T t T H 1,206 2,672 1,396 1,276 413 2,069 190
B L 2 T H 873 1,937 1,017 920 238 1,463 236
w T 3 T H 843 1, 885 991 894 194 1, 431 260
¥ T 4 T H 1,482 3, 244 1,736 1,508 475 2,504 265
w oI 5 T H 890 1, 969 1,108 861 313 1,570 86
w I 6 T H 833 1,664 920 744 267 1,324 73
E £t R 1 T H 824 1,799 1,003 796 384 1, 349 66
g £ R 2 T H 1,133 2,538 1,382 1,156 482 1,977 79
E X A& 3 T H 1,528 8,023 1,750 1,273 523 2, 408 92
E + R 4 T H 766 1,618 894 724 262 1,301 55
g &t R 5 T H 1,297 2,534 1,476 1,058 419 2,067 48
N | T H 690 1, 839 983 856 428 1, 359 52
® % 2 T H 897 2, 266 1,233 1,083 AT5 1,719 72
® ¥ 3 T H 572 1,687 855 832 232 1,324 131
% M & » 1 T H 18 21 19 2 0 21 0
% # & » 2 T H 8 13 10 3 1 12 0
$% 0 @ v 3 T H | 19 21 19 2 0 21| 0
2 1 T B 220 121 339 382 49 613 59
B W 2 T B 546 1,870 927 943 374 1, 431 65
g M 3 T H 1,335 4, 256 2,093 2,163 697 3,361 198
E B 4 T H 260 837 430 407 111 650 76
4 )N 1 T H 542 1,083 567 466 125 861 47
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] T £ A RIBR OB % 8 15EE AT | 15~645% | 65mll L
& N 2 T H 697 1, 411 684 127 176 1,165 | 10
4 )18 T H 428 1,054 544 510 215 807 32
4 0 4 T H 515 1,383 694 689 158 1,150 75
R 1 T H 296 884 448 436 119 697 68
R 2 T H 564 1,819 879 940 137 1,527 155
£ K 3 T H 484 1,520 759 761 181 1,245 94
# X 4 T H 314 1,043 524 519 119 834 90
mo®E 1 T H 1,817 3,059 1,620 1, 439 520 2,331 | 208
w2 T H 1,126 2,836 1, 424 1,412 387 2,233 216
A # 1 T H 127 129 102 21 0 129 0
A M 2 T H 710 2,525 1, 246 1,279 453 1,972 100
A 3 T H 596 1,977 994 983 267 1,615 95
A B 4 T H 760 1,806 959 847 226 1,474 106
A M5 T H 316 1,109 528 581 163 897 49
A 6 T H 808 2,728 1,316 1,412 433 2,152 143
2 & 1 T H 1,148 3,438 | 1,643 1,795 8317 2, 430 171
£ & 2 T H 905 2,193 1,374 1,419 585 2,037 171
*x ®|® 3 T H 431 1,409 696 713 169 1,118 122
x ® 4 T H 476 1,537 - 740 797 140 1,278 119
¥ ® 5 T H 932 2,883 1,372 1,511 470 2,317 96
2 ® 2 T H 780 2,473 1,199 1,274 432 1,887 154
#2 & 3 T H 376 1,283 613 670 271 939 73
# Jiss 0 0 0 0 0 0 0
i3} i 703 1,921 947 974 432 1, 432 57
= ) H 2,264 | 6,260 3, 246 3,014 1,548 4, 382 330

HE 13 14 13 1 0 14 0
= i 1,007 3,077 1,506 1,571 812 2,108 157




